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Before amswering the questions, candidares should ensure that .
they have been supplied the correct and complete question paper. E
No complainr i this regard, will be entertained afier examination =4
et

Note - Attempt fiwe questions in all, selecting ore question %
=

from cach Umt. Q No. 1 i1s compulsory. All
questions carry equal marks,
1. (@) What are Race Conditons ?
(b) Differentiate berween Preemprive and Non-
preemptive  Scheduling.
(¢) What s the concept of a Viral
Machine ?
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(d) What do you mean
(¢)  What arc Event Counicrs !
(h  What is Critical Section ?
(@) What is a Device Controller 7
(hy What are Process States 7 2x8=16
Unit-1
2. (a) What do you mean by an Operatng
System What are the main objectives
and functions of an operating system ?
Explain
) What is CPU Scheduling 7 What 15 a
process-scheduler ? Shown below 15 the
workload for 5 jobs amving at tme zero
in the order given below
Job Routine
1 12
2 25
3 9
4 4
5 1
Now considening FCFS, SJF and Round-
Robin (RR) [quantum = 0] algorithms
for this set of jobs, find out which
algorithm  would give the minimum
average time and tumm-around tme. 7.9
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3. Explain the following - | |
(a) Mulnprocessor scheduling and its types

(b) Operating System Structurcs
(c) Threads and its types

Unit-11
What is ‘Semaphore’ ? What are the
disadvantages of semaphore ? Implement
the Producer-Consumer Problem using
Semaphores.
What are deadlocks ? What 15 Banker’s
algorithm ? How 5 significant in

6.5.5

4. (a)

&

deadlocks ? [Musoate. 8.8
5. Explain the following :
(a) Dinning Philosopher’s problem and s
solution
/(b]r’" Decadlock Prevention and Recovery 8.8
Unit-1IH
6. t is Segmentation ? Discuss s
'J‘Ma:::nugcs and disadvantages.
{(b)"' What is a2 Page ? How a page size s
decided ? Jusufy your answer.
4~ What is PMT ? How physical memory
address 1s determined from effective
address? 5.6.5
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